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1.7 H      2.6 H 

0.5 H   0.5 H 

Protium, H/D 

exchange 

(cyclohexyl) 

0.05 H 

 

      ↓ 

 

      ↓ 

Protium, H/D 

exchange 

(cyclohexyl) 

0.08 H 

EtOAc 

(trace) 

5 x CH2 

(cyclohexyl) 

10.0 H 

EtOAc 

Hexanes 

↓ 
Hexanes 

0.4 % w/w 

4 x CH, Ar 

4.4 H 

0.5 H 

3.9 H 

EtOAc 

NMR Solvent 

HOD 

Part CH 

(cyclohexyl) 

0.5 H 

3.9 H 

0.3 H 

0.5 H   0.5 H 

2.4 H 

1.5 H 

4 x CH, Ar 

4.0 H 
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NMR 

Solvent 

C=O 

C C 

NCH2 

↓ 

CH2 

(adj. Ar) 

2 x CD2 

CH2 

(adj. Ar) 

3 x CD2 

2 & 1 x CH2 

(cyclohexyl) 

 

C=O 

(conformers) 

4 x CH, Ar 

NCH2, masked 

by NMR solvent 

                      → NCH2 

CD 

CH2 → 

(c-hexyl) 

NCH2, masked 

by NMR solvent 

                      → 

CH2 

(cyclohexyl) 

CH 

(c-hexyl) 

  ↓ 

NCH 
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